Electron Particle Gun Sample
Energy:0-10 GeV flat distribution ; Angle:0-45 degree uniform

« Efficiency definition:
Fraction of good reconstructed events out of total events in fiducial

hist(truth_fiducial _evt==1 && XzUzDiff>=-2 && XzUzDiff<4 &&
XzVzDiff>=-2 && XzVzDiff<4 && chi2PerDoF>0 && (vtx_mod<=60 &&
neighborhoodEnergy/recoE_s<0.022 || vtx_mod>60 &&
neighborhoodEnergy/recoE_s<0.042)) I hist(truth_fiducial_evt==1)



Efficiency

Efficiency vs True Energy
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Efficiency vs True Theta
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Vertex X and Y Resolution
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Energy Resolution vs True E

E resolution vs true E E resolution vs true E
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Energy Resolution vs True Theta

E resolution vs true theta
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Energy Resolution vs True Vertex Z

E resolution vs true vtx_z
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Low Energy nu_e Sample
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Efficiency

Efficiency vs True Energy
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Efficiency

Efficiency vs True Theta
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Efficiency vs True Vetex Z within
Tracker Module (25-84)

Electron reconstruction efficiency
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Reco Vertex X vs Truth Vertex X

reco vertex x vs truth vertex x 2D plot
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Reco Vertex Y vs Truth Vertex Y

reco vertex y vs truth vertex y 2D plot
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Reco Vertex Z vs Truth Vertex Z

reco vertex z vs truth vertex z 2D plot
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